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ORCHESTRA

Flute	1
Flute	2
Flute	3	&	Piccolo
Oboe	1
Oboe	2
Oboe	3
Clarinet	(A)	1
Clarinet	(A)	2
Clarinet	(A)	3
Bassoon	1
Bassoon	2
Bassoon	3
French	Horn	(F)	1
French	Horn	(F)	2
French	Horn	(F)	3
French	Horn	(F)	4
Trumpet	(C)	1
Trumpet	(C)	2
Trumpet	(C)	3
Trombone	1
Trombone	2
Bass	Trombone
Tuba
Timpani
Harp
Violin	I
Violin	II
Viola
Violoncello
Double	Bass

ASPIDISTRA	ISLAND

On	an	aspidistra	island	
where	the	sun	is	always	setting	

and	the	seas	ever	widen
lives	the	memory-man	in	his	mind...

He	remembers	the	diary	of	his	life	and	times.	
He	reminds	himself

to	play	you	the	record	of	his	life	and	times,
and	he’ll	play	youthe	record	of	his	life	and	times	again

and	again
in	the	evergreen	light	of	his	day...

‘Oh	the	stars	don’t	shine	like	they	used	to	shine	
and	the	people	don’t	smile	like	they	used	to	smile.’	

He	remembers
and	he	tells	you
and	he	means	it

that	everything	would	be	different	again
if	only	you	would	return	with	him	again
to	the	days	when	he	was	young...

Can	you	love	him
in	the	evening

as	the	waves	wash	his	island	away?

Doug	Constable

durata	circa	20	minutes
score	is	tranposed
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  
 

 



 




 

 

  


  


  


 


  


  


  


 


  


 


  

































































arco pizz.

pizz.





























































To	Fl.

1.

1
2

Fl.

3Fl.

1
2.3

Ob.

1
2

Cl.	in	A

3Cl.	in	A

1
2

Bsn

3Bsn

1
2.4

F.	Hn	in	F

3F.	Hn	in	F

1.2.3Tpt	in	C

1.2Tbn.

B.	Tbn.
Tba

Timp.

Hp

Vln	I

Vln	II

Vla

Vc.

D.	B.



45 50

45 50

45 50

45 50
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




 

  




 
 

  




 



 


 


 

 



 


 



 

  


 

  





  


  



 



  

   




               

  
  

 


 

        

   


























































   

   

   

   

   

   

   

   

   

   

   

   

       


    

   

   

 
     




 


   
  

 





  


  


   


  


  


  


    


   


  

































































Fl. To	Picc.

1.

1
2

Fl.

3Fl.

1
2.3

Ob.

1
2

Cl.	in	A

3Cl.	in	A

1
2

Bsn

3Bsn

1
2.4

F.	Hn	in	F

3F.	Hn	in	F

1.2.3Tpt	in	C

1.2Tbn.

B.	Tbn.
Tba

Timp.

Hp

Vln	I

Vln	II

Vla

Vc.

D.	B.
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

       



  

 


    














  





 
    





 



 




 


 







 



 









 


    



 


    







 


 



 


















































































   


  
  

    

    



 

 
 
 
 
 








 















 





   



  















































   

    

    

    

       
                  

    

    



     



      

  



   



 



 





   





   


    


      






























































































































































































































































































Picc. To	Fl.

1.

1.2.

1.

2.3.

1.

B.	Tbn.

1.

1.2Fl.

Picc.

1
2.3

Ob.

1
2

Cl.	in	A

3Cl.	in	A

1.2
3

Bsn

1
2.4

F.	Hn	in	F

3F.	Hn	in	F

1.2.3Tpt	in	C

1.2Tbn.

B.	Tbn.
Tba

Timp.

Hp

Vln	I

Vln	II

Vla

Vc.

D.	B.

 

55

55

55

55
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 

     

     

     




 

   


 


   





    

     
































































































    





   
  


   





 
  





   

 
















   








 






   

 


     





  




 
 

 





 






  


 

 

 











 



 

 

 




 






 








 
 
 





 








 
 







 



















































































    



 


   

 


   

 
 


 


          




 

 
 

 
 

 



 


  

  

 
     


    

    



    
   


   

 
 


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